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B [a] Use the distribution property to find the value of : % X2+ % x6— %

[b] Find three rational numbers that lie between : % and %

El [a] What is the increase of : 7 X+ 5y +z than2 X+6y+z?
[b] Divide : 14X2y—35Xy2+7Xy by 7 Xy >X#zero »y # zero

LB [a] Simplify to the simplest form : (X —3) (X + 3) + 9
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[b] The following table shows Gehad’s marks of mathematics in 6 months :

‘ Month October

November

December

February

March

April |

’ Mark 30

35

42

37

44

50

Find the arithmetic mean of the marks.

|
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[a] Subtract : 5 X2 +y*~3 Xy from X2-2Xy+3y>
[b] Use the distribution property to find : % x5+ % % 10— %
[c] Simplify : 2 X+3) (2X-3)+7
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B (a1 x= % s y=— % s find the numerical value of : (X -y) + (X +y)

[b]Divide : 6 X~ Xy - 15y> by 2X+3y where 2X+3y)#0

[c]Add:3a’+2a+5 and 22°-5a+3

LE [a] Factorize by identifying the H.C.F.: 12 X y* + 18 X y?

[b] Find four rational numbers between : zero and L

[¢] The following table shows Gehad’s marks of mathematics in 6 months :

| Months

October

November

December

February

March

Apil |

‘ Marks

31

35

42

36

46

50

Find : (1] The arithmetic mean.

(2] The median.
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Answer the following questions :

m Choose the correct answer :
(MIf AABC=AXYZ > then AC = weoveeveees

(a) XY (b) XZ ©)YZ (d) AB
[2)If m (£ B) = 105° » then m (reflex £ B) = -+-oooovovve

(a) 255° (b) 75° (c) 105° (d) 50°
ElfﬁEC-DandABzﬁfcm.athenAB+2CD= --------------- cm.

(a)10 (b)4 ©8 @12

(@) The measure of the supplementary of the angle whose measure is 30° equals -+

(a) 60 (b) 80 (c) 150 (d) 90
(5) A cube is of volume 125 cm? » then the area of its base = - cm?
(@5 (b) 15 © 25 (d) 10

(8] The measure of the right angle is -+
(a) 60 (b) 90 (c) 180 (d)70
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(12 In the opposite figure :
If AF // ED // CB s AE =EC 5 then AD : AB = oo

()25 (h) 322
() 123 @1:2
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@IfLXcomplements L ¥ and Z X =LY 5 thenim (£, X) = -srwmwssesend o

(a)45 ()90 (©)20 (d)180
[8]A square is of perimeter 20 cm. » then its area = - cm?
@4 (®)5 (©)25 (d)400
(9] The two diagonals e equal in length in the ----evevo.
(a) rhombus. (b) parallelogram.  (c) trapezium. (d) rectangle.
10/In the opposite figure : s
B EAC sthen 0= rreiorrins
@30 (b) 120 ot

(©40 (d) 150
ATIf m (£ A) = 110° 5 then m (reflex Z A) = --woorrnnn.
(a) 70° (b) 360° (c)250° (d)150°




image12.png
g Complete the following :

() The two diagonals are equal in length in - and oo

[2) The perpendicular bisector of a line segment is called «ooeeeeeeeeee

[2) The sum of the measures of the accumulative angles at a point equals -+ °
@IfAABCEAXYZ,m(LA)+m(LB):1OO°,thenm(LZ): --------------- 2

(5)If two straight lines are perpendicular to a third » then the two straight lines are -+
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(6] f AABC=AXYZ sm (£ A)+m (£ B)=120° sthenm (L Z) = vooeveevees 2

(7] If a straight line intersects two paralle] lines » then each two corresponding angles

[8JIFAABC=AXYZ >then AC = ---vovoeeee
[9) Two right-angled triangles are congruent if -

[0 If two straight lines intersect » then the measures of each two vertically opposite angles
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[a] In the opposite figure : £ i

DE // AC sm (£ A) = 110° ym (£ D) =70° . L
Complete the following :

M (L C)= e DECAUSE ---vveveereee 10

@) 1s AB // CD 7 (-overeveee N p— c A

[b] Using the geornetnc instruments » draw 2 ABC where m (£ B) = 120°
» then draw BD to bisect the angle. (Don’t remove the arcs)
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@ [a] In the opposite figure :
AB N CD = {M} > ME bisects Z AMC > m (2 BMC) = 116°
Complete the following :

El i (2 AMQ) =isivsmmsins ° (2)m (L AMD) = -+ooevvveenne.
(Blm (L AME) = -+vvvvevnens °

[b] In the opposite figure :
XY //ED // BC » AE=EC E
Complete the following :
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LB 12l From the opposite tigure complete the following :

FJA ABM=A oo
BICD = -vovevennns cm
Blm (£ B) =m (£ et )

[b] Mention two cases of congruency of two triangles.

Sem,
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i [a] In the opposite figure :

BD bisects Z ABC » m (£ DBC) = 35°

A
D
Find : m (£ C) ym (£ ABC) and m (£ A) B C
[b] In the opposite figure : A
AC=AB ,DC=DB 9
»m (£ CAD) = 30°
Prove that : AABD = A ACD .
(2] Find : m (£ CAB) i
@ [a] In the opposite figure : . -
DE//AC »m (£ A) = 100° Y ]
, DE bisects Z FDC »m (£ FDE) = 40° E .
() Find : m (£ FDC) and m (£ C) L~
E
E
s5cm. C D

(2] Prove that : CD // AB

[b] In the opposite figure :
The polygon ABCF = the polygon EDCF
»m (£ EFC)=110° ,BC =5 cm.
Find : (1) m (£ AFC) » m (£ AFE) and m (£ FCB)
(2] The length of BD

&
A
B
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@ [a] In the opposite figure : A

B
AB//CD // EF , CD bisects 2 ACE D R
ym (£ A) = 50° -

Find : m (£ ACE) and m (£ E)

[b] Using the ruler and compasses » draw the triangle ABC in which BC = 6 cm.
»AB=AC =5 cm. Draw AD | BC where AD (] BC = {D}

(Don’t remove the arcs)
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@6b3:2bx ...............
(7] The mode of the values : 7 55 sa+4 5557187 sthena=-ooeee

! R e
(8] The additive inverse of [4 % (— 1 I)] St
(9] The degree of the algebraic term : 32 x? y2 IS woeereeneieees

The rational number that hasn’t a multiplicative inverse is
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Answer the following questions :

Ln Complete each of the following :
B2 x*y0 =62y % il
(2] The remainder of subtracting — 3 X from 2 X is «---eovvvns
B1:515253 3558 5en (in the same pattern).
[4]If the mode of the values : 7 » 5 sa+35557is7 sthena=-coeeee

B5 %21 15 Xv= 5 X (oo 5 s somnmnsnssd )
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[E Choose the correct answer from those given :

(1] The algebraic term 8 X3 y2is Of the --ccevvvonenen degree.
(a) third (b) fourth (c) fifth (d) sixth
(2] The rational number that lies in half way between % and g S e
ehed kel 4 ol
(@) 2 OF © % @ 3
(3] The multiplicative inverse of the aqumber (%)Zew 1S e
(@2 (b)-2 (©)1 -1
== Sy :
|4 If Xy 54 rational nurmber sthen X # oo
(a) -2 (b) zero (©)?2 (@5
(5] The median of the values : 5 54 57 is «---rrrree...
(a) 4 (b)5 €))7 (d) 16

[6]If the arithmetic mean for the set of values : 3 555 X+2is4
> then the arithmetic mean for the two values : 5 — X 55 +2 X is coorvreveen.

(a) 6 (b) 4 (©)3 (d)2
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(7] The median of the values : 7 93 54 55 5218 oo

B

@7 ®)5 ©) 4

The rational number x: 5 = Ze10 5 when -
(@) x=-3 by x=17 (©)xX#3

The quotient of dividing 2.25 + 1.5 = -
@15 (b) 15 (c)0.15

The arithmetic mean of the numbers : 3 59 51 57 is -+
(a) 20 ®)5 (c) 4

X2+ X))+ X = e

(a) zero (b) X ©2x+1
e b

(a) < (b)= ©>

@3

d)x=7

(d) 500

(d)3

@x+1

(d)=<




